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D 290k, (SH108, A 158, B25#, C#40% )
3w L= cm? (2) 029 hL = cm?
438 v kL= cm3 (4) 0333V v L= cm?3
D ZI0X. (S0, AI5F, B#25#, C#h40% )
4000cm?® = Jw hL (2) 500cm? = Uy bL
2400cm® = )y kL (4)  50cm3 = )y kv
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(3)
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290k, (SH10F, AI5F, Bik25#, C#k40% )
6y ML= cm? (2) 04Yv bIL= cm?
917V v FL = cm? (4) 0.253 Y v F)L = cm?
90 k. (S0, A 158, BH25#, C#H40% )
7000cm?® = )y kL (2) 800cm? = Uy Fv
4200cm?® = v FL (4) 75cm3 = Vw ML
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RETFAS B #FFE ERfE 01 HREHEH
RD 290k, (SH108, A 158, B25#, C#40% )
*x L(YvKIL) = cm?® 1000 f& (IR ZEBN3TIEH)
(1) 39w ri=| 3000 [cm? (2) 02Yvyri=| 200 |cm?
(3) 438V v h=| 4380 |cm (4) 0333V v Fl=] 333 [cm?
RD ZI0X. (S0, AI5F, B#25#, C#h40% )
* cm® = L(Ywy kL) 10100 & (NBREEEA3 T YBE)
(1)  4000cm®*=| 4 [V v bV (2)  500ecm®*=1| 0.5 | Vv b
(3)  2400cm®* =| 2.4 |V v FL (4)  50cm®=1| 0.05 [V bL
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(1)

(3)

(1)

(3)

290k, (SH10F, AI5F, Bik25#, C#k40% )
6> FL=| 6000 |cm? (2) 049w bL=| 400 |cm?
917V v FL =] 9170 |cm (4)  0253Y v b=] 253 |cm?
90 k. (S0, A 158, BH25#, C#H40% )
7000cm* = 7 |V FL (2) 800cm?® =] 0.8 [V v bL
4200cm® =| 4.2 |V v bV (4) 75¢cm® =1 0.075 [ U v hL
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